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[bookmark: _GoBack]+ : confirms concavity (our hypothesis)
– confirms convexity (against our hypothesis)
0 linearity (neutral for our hypothesis)


% 0
#01		10		25		40		60		78
					0		+		–
%
% +
#02		10		20		50		100		200
					+		+		+
%
% +
#03		10		30		70		120		200
					+		+		+
%
% +
#04		10		21		35		50		64
					+		+		–
%
% +
#05		10		20		32		46		60
					+		+		0
%
% +
#06		10		15		20		30		40
					0		+		0
%
% +
#07		10		60		120		240		480
					+		+		+
%
% 0
#08		10		23		34		46		58
					–		+		0
%
% +
#09		10		50		100		200		400
					+		+		+
%
% +
#10		10		24.50		39.50		59.50		82
					+		+		+
%
% –
#11		10		30		45		55		64
					–		–		–
%


